BITaA B

A= bE—RXn2

>

2400 1050FM (#%E2,0005M)

E4AXR=ZRE 7

Halo
WIF=YALIRX
TSwoHAR Wishing Well
£EE 2001 Azoo
OAIRAYN=AT
FIHV TSV Burghclere
2012 BOSA5NhA—
YIOSNOVIA—
aA—I\—bk HoSN\JOE
B 2005 *SeyI P UITI—F
)( Z ZFhxd30
1 E 1 Halo
2021.5.17 & o
XAAZT7—2R Wishing Well
BB 2000 Kris
RA VT YRICR
7r3—-IbE—=X Silken Way
£Ee 2009 g
oy
Nyl Severn Bridge
B 1995 P
FAFTT IR _
EFILRR— (1)

POINT | 1>k

REMDW 7D ELIERLOHRD 29, B fr M SIEE, 4
FEARERG I Zﬁﬁﬁb)f’ﬁé@ﬁ&%éoﬁ(@béﬁ‘i% )5 7

WOHNOERZHEDZICNI BRI TTH, WilzikL -
BRI LTE, RUSTIORMZZ REs4E, L—2TY

CIED—FEPHFTEET, RILDEAEDINL, 22 fliof
R 7 4 —LF DI ENE T, MRERCEE2S, Zii
HEDL LD MEDS 2 ) T, KUHERICAY - A7 F-EhEL
TED, NOWERLIZAFHANUT ANV NIETESLTLE),
2T a—ZHBICED BN 77T eI ZKD £,

B77—L £E#8T77—

L BEHRT7—L

il

» 'ﬂ--.h.,."

v ‘ ‘ @fwﬂ"f #

FAMILY 8 #%

A LGP RIE Tk, WA 3B, 7, ¥ —E—-JPN1,
EHE-JPN1, [BMS : LR ILVY 7 v AL — (EHY — Fh—Z,
Fr VEF Y ZXCGL, V¥ F =¥ —=E—-JPN1), 7=l v h(NH
K~¥A)VC-G1), E=TZAbZw v N (XTI S-G2), Va—hTFr
(TAEAHY—F v a -G3), PV 77— XEX(T)VT7 1+ /S-L)

BEE 71— (09 34 2= 7 —2) 1 . BB
Yy Ry a6 E Aba vy )y — /)ZH#? @
=27y F 7 (18 H * 22 7 A —T 7 =R —F) 2%, ®
P h/ 2oy (19 BE 2bo sy — /)1% @
EEE N7 D)0(95 F == ) 21k, PEE
RIWASZAAW N =75 27 05 =) 31k, I 4R, iEEFHREE
05, 785, LK, W34, FbH&E, Ty oy Ny, 4
)Liz‘:w‘/a‘/:}««\/7°S,‘ZE~‘)«~‘/7°S,¢%$L\‘)««‘/7"S (21[a0)
I TIE ARG 52 7 HANAN) AR, T—F VT4 XS, 3
| EVH, BEILES-G3 3K
NIEa—NIYG UL 752005 =) A, Yy v A VS, il
| 0, O, BARE-G25 %, B 1RE, BB v v 7S 2%
HRIIASIURGE 227 H ANAN) 215, B2 15, By + 7S
35, [ 475 BMAT) Iy v T 45
FLFTIRVRAR (83 ) —F v F—Z M) IlEFH G40 (21[8)), 785,
i HFEif-JPN2, FLEMZFY) 7 C-JPN2, 27 % —Z S-JPN2,
EMA—4 L H-JPNS, 5ifif 375% S-JPN3, 335 AH-OP, PEE
ARF=IFvI T 4l AFEE-JPN2, [ 2%, 27 (¥ —Z S-JPN3,
| HE-OP, 41 H-JPNT 2 %, K& (#-JPN1 2 %
TSALLAT—=Y: 31, AL 3% S-JPNS, 7= 7 1) —S-JPN3, o — <
S-JPN2 27, 7 4 — > C-JPN3 2 75, F{EE-JPN1 3%, P TYU
a—b (&1 S-G3, HITHF-G3) Of}
NZROT =23y 5, WIS, AE)NEER), 7S S-G3 2 74, F
| —YFYFC-G33%. NARPIH— (B 2H-G3) D f
TONFFaTU— : 3, BERI, S5 -1E5 %5 R
FvzZvreaAy: 2, AgU=ye—0—(GEHHHE, ¥+
v C-G1, 7 )L vF 3 RIENR-G2) Of)

=2
]

[NY] N—mes—uUN x QeI US4



